
Q

Z BUSY

QOUT

Q[35:0]

GO

U=S9*S6*S5

U=S9*S6*/S5*/S4

U=SHIFT+GO*/BUSY

K=K

Q=S3*S2*S1*/S0

Q=ESEL*S3*S2K=K

CE=CKEG

K=K

Q=GO+PSEL?Q0:PARITY

K

Z,Q[35:1]

D[35:0]

LOAD

MX[35:0]

S[7:0]

K

C7

CE=CKEG

K=K Q=BUSY*(C7@S8)

Q=BUSY*((C7*S8)@S9)

K=K

CE=CKEG

Q=BUSY*(PARITY@Q0)

K=K

CE=CKEG

K=K

Q=GO+BUSY*/END

S8

S9

BUSY

END

SHIFT

CKEG

CKELU=SHIFT+LOAD*/BUSY

PSEL

ESEL

PARITY

QOUT

CKEL

S

RDCE

C

D

Q

36

36

RD36

S

I1

I0
O

MUX

36

36

36
COUTCE

KR
CNT_R

Q
8

End Bit (S=38.x)

Select Parity to QOUT (S=36.x)

Enable Shifter on LOAD or SHIFT

Enable QOUT

bits.

Serial Output accepts 36 bits

SEROUT

on LOAD, and sends it serially

with start, stop, and parity

Shift at S=X.15

Reset BUSY at S=38.13


